WA S5 55 (L
o éﬁ%w /%/7{2% 5/2;/
i et iy 2

957) //%) 3,3 P

W% Fe(e)=(2)(2) 2 =2 r2+¢ v
V&Mé}y -/Z;%m ; :({/)(3) 9 ﬁ/f ‘L/ +Z ;«d/

y W .

D xct] Eoxzdz Y5 vy A 2

[ Y, - )l sfg? i;/}—--}z i;—;{/«)z *}%
5&) //)&/° %xsv/ﬂ)c %%fz St f
corolonl Lo : 8=C)(5)= ()5 p=4) 2224 2§ S

S e o %Z’ L

% Lo $=U))-()e) > #22) 22 o0 #

| 2 & }Wi ¢ g
TR Pdef vense Honet £ st utaect] o]



§.5/2
L (o) < 2% 7200y

é) ()(%' f%Z%//@)"‘/Z’Z) xLl=0—>xz2
/(2)= (2)" ?/z)f/% /618418 =12

) (Fost tetizfon) VIS Gar 7
) t‘& ———% P :v(

‘//“//: (~/) y*"g[v/)z-%/-//%ﬁ S S

—

——— S —

/0)[5:6 ”¥x¢+3x 22 fx - /) (,zyf‘{) L//x) Sx ’?ZSL%B,K Lt/
XA =0 —> 2= 4

//'!)2%5) () 3(5)P200)% () -
=@ 774)-#(1294) +3€206)-2(38) -4~
R L Ll 4 e o ke
T Q6 - 72y = —%4¢7Y

[ O —

Y —

DIEETES MRS N (SRS B

2 -S=0 —> =z =%
J[2)=3(3) 5 4(3) 5(3 +2 -
—3(27)+m) _o¢re = §l#36-2¢+2 =45

N /))//x/ 23 4x?-Sxr2 | X< ZJWWMV%}

2t -3x + | {‘ /{1) D34 508-Sx#2
X+ /’2;3 FA TSkt = (x+2) (227 3x+1)
(2221 G =2 (en2) () ()
—3x2-5x _ ;
CCmioda) / X+lx0 | Z==(z0 | L-/<0
o Fz Xz=L Z;c;/'/ 76;/,
~(#erz) — = | =

0 \ ——



| ‘ ss (3
ML) //96)32953’%5&%/3% “{) x -

~————

e

2t -7x +§ ( /()6/2,2263*7;02 /3 =€
et o2 b)) (e Toerd)
(277 2% - N/
et = Cx 1) (1) (2 -3)
~( =7+ o) [ 2x-/=o0 X—(20 |4 .3:-0
+5>&'{ 2x= [ x = B
— (+Hx6) | x=4 | = _if___é__
o | —_—
/5) //Z/: g,b%xle&x*/Z/‘ Z 43
320§ + ¢ | Pl)e 3P ~20x/2
XF3 | 353 425202412 | = (:C—f@) (g}czng ‘*{4)
_,(%;5’3 1’42/2) [ - CXﬂL;) (g/t - 2)@, «z)
,Z,CL/ZO% | Y436 %;(,"250 -4z 0
‘_(’XZZ"Z(%Z) 76:"3 82: zL x =2
T 4eri2 | _— _p -} -
—(+ %x 112) ——
19) fle) =5 41624 ;23
~SxZ ¥ +3 | ?//,6)55;&3#/0/1—2-7 |
xX-> /’—5—X3+/5x2’+07¢ -7 = (x/§>(’5'zl~#7c’+3):[x-3)('/)(9’xz‘x’3)
_653:3 +/§:c1) l B2 me/,Z@.aﬂ/ZWJé«/ZfM%b
+ 5 0x { Cotx =3 = =S M=/ c=-3 ,
~( +]x*-3x) e Bt St A(1)E) O ) (3
#2-9 | - zgo o 2{5 )
(reeq) LR L 1FAL




/(=)= S s| 4
20) 4%213“72*3 }'75"/ //)c/: Fon?=Tx 3

brvinz (P ey
Xl [ aers | =) () (3 D)

{2 2ui3eo | 2e-feo |wfes

+ %2 | 250=73 _ ;
_—(+¥x2_§&z) )C;Tj_ 2;(1’ "// 2= |

3243 : *=Z -

"("5,(*3) [ -
o) (

022) 22325 W r2¥ 0

J) < n-3rt00 2
@x [ [/) (1) 15(/) z/a( )+254 /- 9/0+2¢ /21 e
@ =4 ///) (/) %/*/) /0(*//*25‘”/ HENEESE Sep B

— -

ﬁy //&) [2) 3(2) -10(2) 42¢= §-2 20+2§é O+ xlz-—azz 0

= ke «/2_4 ~ j“%/)c)J e -3t [0+ 2K
x-2 [xP-3=2-10x+2¢ 1T o |
| = (¢-2) (x*-2-(2)

) ( < (x -2) (z+3) (x4

—xt-/0x
—(oc* +2x) [ X430 | x-2z0 |x-¢=0
’/2/7C+2¢ & , -
(’/2%%2%) i fc_;;: >x < 2 >x =
0 —

e _—

2¢) 753*«2%,2 ’79& ’/y5@
//):/:: x ;+p27cl "72.’ //j
Ty st ()7(1)#20)=00)~(] = |+2-9 13 =24 n

—




2 @ W \ oS /'2
@* ¥l 7’/4/ :(v/) iﬂ/“/)z~7/v/)~'/a7: | #2491 28 ne

et -9 ,
=x” +ola “%g’/j
e [?‘;*2””’%“/5 1) O 0)
—(e?#227) = (22 )(5¢ A
W?x“/g ; = C2’+?,) C%7Lg)(2. .,5)
"(/775"/5) ( ‘Z"’;‘:O\ x {20 ‘%/2'50
o X2 | 222 | x=3

.

- ———— S

026) zg“gx?'még% + 7S p
//X;} :763“’ %,‘52/2 §'75 %7j~

[ (Np7S e -3-25 475 = {45 rer

Ty 2ot H) ) F 2T s

Byt AT S e

< NE

@x 2 %)/a) (2) /é/a) /2§(2)+7s~‘ j2-S0+75=2 1 :

e

o

IL;/%VZ /(z) {wz) 5(2) zs[z)m/wg /2%3’0*75 (05 ; 7o

J—————
U

e e——

@% 3 //%) (3)3(3)=2s(3) 475 :2.7- 2775 TS = 02 233> X5E

= -?,5 , //x) 22320 475 = (= 3)(x*25)
i
L= B | 2+S oo i‘;};f?é z2-5=0
OZ?'~Z3)C"(7S -
- (-2Sxrrs) ! < xX="3 / ,X:____g
o | M -




> S 6
Qg> La? 4 x? T =6 =0
o) 2223+ 2T =€

@ //f) 2(>+(/) 70) 4 =24) ~7-d=) 0 e

@Iv/ ‘///) 2/// +Z// 7(“/) { ~3%/%7/ / e

@ (2] = 2(9) /a)z 7(2)- { /517*(/ /%K 0 xwaaxz o

252+ S5 +3 ‘//96) 2)5 4ot ,7)
=2 | 253 -Te 6 | _,,(x wZ) /2%2#5'; +3)

"{2?( "(f)(/z) i A
S 2T e | = (»?C‘“ZJ (2 #3) (Z“/’/)
(#5x%-10x) Dwt3=0 | x+/co | x-250
#‘%;{Mé ; 296:95 ?Ctv/ x =2
ﬁ(ﬁ'g}’/vg) = j_ —— P
T T .

e - . P e

”7‘47 z= >f//«;) 33 ) ) - -9 G 1330 635



20) W 5-(5-&
W@m =4 = (1)) = bi)(-6) = (-2)(3)=(2)(=3)

W~+[ 424»3 & £

- o/
J&a@@m 3 £ (!)(3) Z/)(-B) "L"Zij’
f/,f/ 3
. Al o s =2 yp w2t R
#{ ,4—)/1-/, -r&//zh";(—::“ﬂLz/ HOOS Ty
TN S pi-ii:,g Kby et
L | Y ¥3 -2 T/ -3 #2

/497/ Dse 2tz aﬂw«: (//WW /Mfé/
ty it A M
byt 2.3 P (Bt bty

#3 '3
2 -2 5 _
. Z/"_/‘./:./ «/3-/ "(")/ - _,_’_,__’C%’ZZ -
XV/ 3 -3 3 ’/[%) ( 9 7 ‘;’“/‘%'%ﬁ”%‘fiﬁzw

byx 353 AR )42t e

~& 22
*/4-——«———"0 :Z:'.;*? SZ:"’Z—)‘gl“’LZ:O

=

| 3 5
x5 x -3 //x} 222y t-lx-6= [31-/‘2)[1 —x -3)
82’%2 f313 ’ZZ”‘//% 4 ) Zod M@WJWV%W/

(322 122) a-f Dasp b as

. A Cae (1) JC)EEO)E) /*’Ml /+‘Ts'

=3 xt /{2 ‘ g Py 2¢/)
“(—Zx .—qu) 1 2,423 0 'x:(—JE -)C:. ;4‘/};’
b -2
=< %C“{) ' x=73 .




5.5/ 8
3@2%&%%@ +3=0 52

)= 2007 322 4 3
Ty 2 /(/) 2(/) 5(/)2*%&)%3 034G 4220 e

— -—

157 2 - //v//:z ) ) )43 =23 F3 =6 e

cnsdid Tom o 3=0)(3) =(3)4)

¥
_ @sdrEz AR
Myﬁ/w 2:=(1)(2) = (//{2)
7,: +/ + 2

x:%z-}ﬂl am/i%;}l/’ - L= MW

- e o S e

j}x;‘/%:f:i'v" : ‘//5):2[3)3“3/3)344/3)%3 SSY-274243F0 L ne

—_—  —

@z«i,i -3, //5) 2( _g/g) +§//3)*; -SY-27~ /2+3#0 L e

=

J—
—~— —

@lb—’ SRz //) 2( [’)W/’)*3"*'/+2+5¢0 e

e

—
—_—

ﬁ/x; ;"I/ //a) Z(z) 3/7/) - /4)*3’1"”2*%—*%‘@%

2-[-243=0: x=L > 2, =-/>2x+70



%Z)W | s

b2 +{ ‘ //)C/:Z)( 5,3;62_; o +3
2ot [203 300 gry = et) (et244)

(7 53z | 1t nee/ 2o MWMW/&&

25t b Da=| M2 c=4

-G+ | L e
'(’le~2/>c) (X et ’bz)n(“z) ‘f(///w ct )4-2¢
2 &

, 28 fo 2 (i) 2
+x 4/3 P ;é W&ﬂ%/WﬂW

ar

V—O—— : Cotlzo > e

N

g%) Zsﬁ 27{3“%1'1'2% =
//)C & /‘tf%'/',ZX e ?)52%2;6%5
jyz:/; Ji)=(nr2(nP-9)>2(1)+8 = 1+2-0-2+3= 01zl =17c

203+ 328 o <3

x | /_;?+2x3,7z3 “429(4’}

) ?//%/ -z (ﬁf'z)c;' Tet-2x4f

L | = bet) (P2 -6x8)
T 309 : |
(a3t Mt pe) e nt b
~bat -2
({462 ’Zyﬂvl %[/) (1) +3[/) /(/)vX /*3’/’5 it
—%,c*8

‘HW (77;4 ﬁv/) (//+;// M»x | +3+4-820 ;
- z==| —> xt[=



%L) W //x)z,xﬁ,z)/,ﬁazﬁ; S(Sa()
ot F2x ~§ | //Z/:[X’/)[xg*%zz'/x "c?)

z+/[;,3+5/87,,/l’5 | )
M , //L/: [:c#)(%%/)(x +x vg)
+2x= 6= / = (:2:4) (x'f'// (x%{%)(z .,&)

—( +23*+2x)

Kz ¥ YA E=0 | setl=0 |Z—(z0 | x=2=0
~ ‘%:-Q& x=-( [ x=| x=2

"C‘XXVZ) o p— sy
o |

pEEE—

e =

P

;6) 220327 -)S 2 #32%-/270
//’%)52%:%“5,33’/5%3 432 /2

sse Kellorad Jecs Mewrom

Lomlm i Aoam - ~12=L12) < (-2)(§) =(3)(¥)

/:i/}il/i?/i’%/tK . A
MZZM 2- ()2 g
g=tl, t2
j% x;’i’«—%’—’f/ﬁu/ //,) 2(/) 3(,} /sldm(/) 1220 . 7e
Zy% — =2 //«//vz 2, ~3[«// el /)H/// [2:2+3-/S -3~ /2750 ne

@m: __%,“Z //g _ 22)3(2)-15(2) ¥32(2)-12 =32-24 404 4 -2
=94-94=0 r x=2—> x-2 =0



%)Wh S(Su

TN (R e R

-2 2253271 5 32,72 | ::()é '2)(2;42’4.12//3)6*/)
—(234%%55)

Sk > 2o PHat 32 +6

m[ii;’—Q,:;) ! Vgﬂzﬁ/éé) 'Z% T / x

3yt 3m , .- 3

o) / y==2 : pl2)=2(2)+ (2)-13(2)7¢
el =6+ Fr26Hd
(4 {x-2) |
0‘ o ) #0 ne

—~— — — - o —

@, x =3, ;/5) 2(5) i (3) = 13(2)+4 =S¢ - 37%#& e

]%72/ 2 #3)= 2(5)%5) /%(5)%{“3’%%7%5’7%/“5%5 %

X =3 —> x43=0
2)(/ 'gpf"}i/z %

/ ,
x+%/jz Pt Bt //’E/szcp';xg'/?xzz #32 ~/2
,'{Z?L‘giélx‘) | E L/;z«Z) (/,2)5 o) 32*0/,}
~( :;i://ij) | e (% *3) (2% S t2)
el = (o) ers) (222

— (+2xt¢)

T o | =G (= 2

-/ x -2 zo
e 73 Zx |
—




%g> (7663/5%%/:@ >.5 Z—/'Z
Ioe) = $x? -3 +/
MZZ/% /= [/J/’) /~3L/ .2
@@7 Lo s U)X 7
-4( J—Z +%
et ) 3L 34201 7

@x’:v/ : %///): éé/“/)g“é ’/} H = ~4+34/20 cxz= =P xH+/=0

b2~ v | ,//)9) ¥ S
+1 m/—l _ z%/)(%& §é)¢+/)

—M < )c%/) (Z;c =/ )(2):"// /X%/)/Qx “/)
—Yyt -3 x {
(-t -t) xt[zo | Cx-l)=d
Foet "/ ZZZZ/O
- C}x#‘*/} — i




